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Ad—k
EEN = X #H #F R
A1 fREA 28 — 35 TARA
A2 TAERA 22 — 14 FER
A3 2/ 14 — 4 fhHEB
A4 FER 21 — 21 NI
A5 = TAR 5 — 22 2y
A6 fREA 42 — 8 #2010
A7 2K 15 — 9 LB
A8 NI 8 — 37 TARA
Ba—k
EC = x H fF B
B1 NI 2 — 33 LA
B2 L IRA 26 — 19 fREA
B3 LB 10 — 14 SF TAR
B4 TAERA 17 — 32 LA
B5 fREB 24 — 6 LB
B6 LBA 36 — 10 FER
B7 tRHEB 16 — 7 BHRTAR
B8 FER 13 — 33 fREA
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Ca—Fk
E = xt B 5 R
C1 NI 12 — 44 =P
c2 =5 10 — 41 =&Y
C3 F-W N 0 — 20 FER
C4a =&Y 22 — 14 AR H
C5 TAR-BFAR 9 — 18 &R
C6 wi 11 — 39 i H
C7 =N 4 — 16 LB
c8 frH 25 . 8 =R
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D1 fRH 18 — 11 LIBA
D2 LA 42 — 8 NI
D3 LB 6 — 21 TAR-BFX
D4 = 20 — 30 LA
D5 FER 34 — 6 LB
D6 LA 20 — 31 =&Y
D7 FRER 36 — 8 TAR-FK
D8 =k 51 — 13 NI




